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2) [1997 BC2] Let P(x) =7 — 3(x — 4) + 5(x — 4)* — 2(x — 4)’ + 6(x — 4)* be the fourth-degree Taylor
polynomial for the function fabout 4. Assume f has derivatives of all orders for all real numbers.

A)Findf(4) and f"(4). f(4)=T, % =-2= f"(4)=-12
B) Write the second-degree Taylor polynon.lial for f'(x) about 4 and use it to
approximate f'(4.3). P(x)=-3+10(x-4)-6(x-4)’; PB(4.3)=-3+10(0.3)-6(0.3)* = -0.54
C) Write the fourth-degree Taylor polynomial for g(x) = f : f(¢)dt about 4.
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D) Can f(3) be determined from the information given? Justify your answer.



3) [2001 BC 6] A function f is defined by f'(x) = §+ 32—2x + 3—33x2 +..4+ n—+1x” + ... for all x in the interval of
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convergence of the given power series.
A) Find the interval of convergence for this power series. Show the work that leads to your answer.
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C) Write the first three nonzero terms and the general term for an infinite series that represents f . f(x)dx.

1 1 2 1 3 n+l 1 1 1
—X+ X+ X 4.+ X =+t +
3 2 33 3n+l S 3 32 33 3n+1
1
D) Find the sum of the series determined in part (C). % = %
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